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Candidates are required to give their answers in their

own words as far as practicable.

1.  Answer any five questions: 2x5=10
-] B o Tea s ¢
a)  Why ionisation potential of inert gases are very

b)

high while for alkali metals it is very low ?
i MR SN e Srore (@ 9126 Fd
4193 (O] Y8 FF (el 2

Arrange the following elements in the
increasing order of electron affinity with
reason: Cl, Br, F

7 72 [WHRIRS (Terelns TRma sETha
eied AfHe Tl SRPICE enes

Cl, Br, F

[Turn Over]

c)  Write down the electronic configuration of K
and Cr.

K® @ Cr. -7 335 [0 @1t |

d) Indicate the state of hybridisation of each carbon
atoms of the following compound:

fgferfae (@oifba afsh FIka s A o<t
O AL -
H,C-C=C-CH,OH
e) Why phenol is more acidic than ethanol in
aqueous solution?

TR G0 (Fea, BT S (9 SNfHE (el 2

f)  3-chlorohexane exhibits optical activity-

explain.
3-chlorohexane NG AfeFTe! (RAR-A7AT 4|

g) Acetylene forms silver acetylide but ethylene

does not form silver compound. Explain.

RTeR (@9 9107 FF T — AT FH |

2. Answer any two questions: 5x2=10
@I ¥ 2o Ted wie ¢

a) 1) Indicate major product of the following
reactions:

2y [fTaiere smig o s
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A)

B)

b)
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Na/ Liquid NH;

H;C-C=C-CH,
C,H;OH
®
NMG:; KOC2H5
CH,-CH,-CH-CH ?
e 3 C,HsOH

i)  The p-orbitals contains a maximum of six
electrons — Explain.

PRI HHfE R 2Rl RS -
RUNIIEET 15 %242

1)  How does electronegativity vary along a
period in the periodic table? Why?

oI AAACe AR I (Nerafea ofte
Aefierre] [Rsre! #ifdafew 27 «ae (e —
|

i1) Between ‘N’ and ‘O’ which have higher
ionization potential and why?

N 8 ‘O’ -9 W I AF9 Ker@q [
@R e e ? (142)+2

Carry out the following conversions:

o

feiRe sfiasaaie sy 59:
OH
» () X
OH

(3) [Turn Over]

i) H-C=C-H H-C=C-CHj;
2%X2
3.  Answer any two questions: 10x2=20

@I 9o 2es Ted vie ¢

a) 1)  Determine R/S-configuration of the chiral
centre the following compounds:

aufiiRe @ewfer@ chiral centre @3 R/S-

configuration fsfa1 T4
CHO COOH
H+Br HO+H
CH, CH,OH

ii) Determine E/Z-configuration of the
following compounds:

il @siefe E/Z-configuration e

<PFq:
HiC_ CH, Ph_ COOH
H CHzBI' H CH3

i11) Write a short note on:
SKEre Bl (1

A) Ozonolysis reaction
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b)

210/Chem. (5)

B) Hydroboration-oxidation reaction
1Y x2+1x242V%%x2

1) Balance the following equations by

oxidation number method:

SR kAT Plmfece fEfaie aeafes i
el g 4

H202 + MI‘lSO4 + NaOH = MHOQ + HZO + Nast4

i1)  Balance the following equations by ion
electron method:

ST FERG oEfere FEfaie apmfas
Jferaia st Ry 541
KMnO,4 + H,O, + H,SO4 = K5SO4 + MnSO4 + O, + H,O

i11) Discuss about Aufbau principle and its
limitations.

Aufbau it 8 3519 Az SETH 5 |

iv)  Write a short note on Hard and Soft Acid
and Base principle (HSAB Principle)

18 Bl (=19 : HSAB Qife

1)  Define enantiomer with example.

2+2+3+3

TYIZAAE enantiomer-4 A< @1Y |

i)  Arrange the following carbocations in
order of increasing stability with proper

justification:

[Turn Over]

@
CH,CH, CH;  C(CHj)

Fiae1E WEfeTie carbocation e BIRCe
S G SPAIE AGNS QIR FIFT N 54 |

) ) ®
CH(CHy),

i11) Designate following molecules as threo
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and erythro:

fsfafie @aefe@ threo @3k erythro
BIESEREEH

CHO

C,Hs
H——OH Br——H
H——OH H——Br
CH,OH S,

What do you mean by levelling effect of a
solvent?

a4 levelling effect T57ce & (AR e
How does atomic radii vary along a period

in the periodic table? Why?

e st o 21 @R @ —
PJ| 2+2+42+2+2
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